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oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) _| (MPN/100ml)
=%(E]| 6.5~85 | 75LLE | 1.0LLF | 25LLF 50LLF
EHE(75%1E) - 9.5 0.6(0.6) 1 390
48] 70 10 <05 1 40
68| 72 9.3 0.6 1 23
sA|l 72 8.6 <0.5 1 93
108] 75 9.1 <0.5 1 2100
128 7.1 10 0.9 1 23
28 7.2 10 <0.5 <1 75
BEEE
NI INESD & £n ANEvAL #HE fKER 7IL¥E)LKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
K& 0.01LLF | FEHRE | 001LLF [0.05LLF [ 0.01LLF [ 0.0005LLF
EH{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
4F8] <0002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2B - - - - - - -
ooant ..o |1L,2-070[1,1-0Za0| Y X-1,2->50][1,1,1-r)%0
PCB g, | PEERE | Qe | xRl OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
R E&E [002LLF ] 0.002LLF [0.004LLF] 0.02LLF [ 0.04LLF 1LLF
E#5fE] <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
4 A <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
68| <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
sAl - - - - - - -
108] <00005 | <0002 | <00002 | <0.0004 | <0.002 <0.004 <0.01
128] <00005 | <0002 | <00002 | <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [FUZAR|FrS9a0I(1,3-247A — . —sen FARA
aazss | 3L | FLv | pgas | TOIA| YROV LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{8]0.006LLF|0.03LLF| 0.01LLF [0.002LLF[0.006LLF] 0.003LLF | 0.02LLF
5 fE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 A <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.18 0.1 <0.1
4H] <o0.001 <0.001 0.14 <0.1 <0.1
6A] <0.001 <0.001 0.17 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.20 0.1 <0.1
12H] <0.001 <0.001 0.21 0.1 <0.1
2H - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2E® | soofus |TLETV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.22 0.031 - <0.005 <0.001 <0.008
4R - 0.23 0.040 - <0.005 <0.001 <0.008
6A| - 0.22 0.021 - <0005 <0001 <0.008
sA| - 0.18 0.025 - <0.005 - -
108 - 0.20 0.053 - <0.005 <0001 <0.008
128 - 0.26 0.017 - <0.005 <0001 <0.008
28] - 0.25 0.027 - <0005 - -
BiLH WA | B : = i S
IT/=| kS coD el > AE ERiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EHE]  <0.02 55 0.7 0.01 0.02 - 200
4H| <0.02 5 1.1 <0.01 0.03 - 5
6A] <0.02 7 1.1 <0.01 0.02 - 60
8H - - 0.4 - 0.02 - 110
10H]| <0.02 9 0.5 0.01 0.01 - 70
12H]| <0.02 200 0.5 <0.01 0.01 - 770
2R - - 0.5 — 0.02 — 170
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oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 9.0 0.5(0.5) 1 240
48] 380 11 <05 1 200
6A|l 75 9.2 0.5 1 23
8A 15 8.5 <0.5 1 93
10A] 74 8.2 <05 <1 1100
12A] 8.1 7.7 0.6 2 4
2A] 8.1 9.2 <05 1 4
BEEE
N INESS & R AR ES ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E(E] 001LLTF [ JEHEH | 001LLF [0.05LLF | 0.01LLTF | 0.0005LLTF [ FE4EH |
B3] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
o004 nwe |1,2-0970[11-S500|P2-1,2-250(1,1,1-k)50
PCB 5 bR Ak 3 axs | T A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eiE] JERE [0.028LF | 0.002LLF [0.004LLF| 0.02LLF | 0.04LLF 1LF
SE{E] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
4 B[ <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6A| <0.0005 [ <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
10A] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,12-+y4 [M)Y00(F54980x(1,3-Y90 = N FARUH
nazsy | TFLY | FLy | @ox | TOIL | YRUY ]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B {E]0.006 L 0.03LLF | 0.01LLF [0.002LLF|0.006 L F| 0.003LLF 0.02LLF
EfE[ <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EXEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.17 0.3 0.9
4H] <o0.001 <0.001 0.09 0.1 0.5
6A] <0.001 <0.001 0.16 0.2 0.5
8H - - - - -
10H] <0.001 <0.001 0.20 0.2 0.6
12H] <0.001 <0.001 0.22 0.6 2.0
2R - - - - -
EDHIEE
N SR | 28 @ | 2E® | sankus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
T{E - 0.21 0.021 - <0.005 <0.001 <0.008
4R - 0.22 0.022 - <0.005 <0.001 <0.008
6H - 0.23 0.013 - <0.005 <0.001 <0.008
8A - 0.20 0.013 - <0.005 - -
10H - 0.20 0.041 - <0.005 <0.001 <0.008
128 - 0.22 0.016 - <0.005 <0.001 <0.008
28 - 0.19 0.021 — <0.005 — —
BiLH HAHRRE | VB s Repp——
IT/=| xS coD el > AE EXiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 5500 1.2 0.01 0.01 - 14000
4AH| <0.02 2300 1.8 <0.01 0.02 - 720
6A] <0.02 3100 1.2 <0.01 0.01 - 7500
8A - - 1.0 - 0.01 - 6500
10H]| <0.02 3500 0.8 0.02 0.01 - 8800
12H]| <0.02 13000 1.4 <0.01 0.01 - 31000
2R Z - 0.8 - 0.01 — 28000




